
Operaciones con Enteros (B)
Emplee una estrategia de enteros para encontrar cada respuesta.

-16 + 75 = 59 × -94 = 35 - 3 = 

40 - 33 = -132 ÷ -22 = -57 + -4 = 

-76 + -82 = 51 × -78 = 2 × 96 = 

-162 ÷ -2 = 374 ÷ 22 = 41 - 11 = 

-1728 ÷ -32 = 15 × 92 = 14 × -66 = 

-28 - 5 = -52 × -98 = 69 - -56 = 

-53 - 92 = 2 × -16 = 81 - -98 = 

-3300 ÷ -55 = -117 ÷ 13 = -17 - -73 = 

39 - 53 = 59 - -75 = -14 + 9 = 

-94 × 81 = 1 × -33 = 26 + 75 = 
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Operaciones con Enteros (B) Respuestas
Emplee una estrategia de enteros para encontrar cada respuesta.

-16 + 75 = 59 × -94 = 35 - 3 =
= 59 = -5546 = 32

40 - 33 = -132 ÷ -22 = -57 + -4 =
= 7 = 6 = -61

-76 + -82 = 51 × -78 = 2 × 96 =
= -158 = -3978 = 192

-162 ÷ -2 = 374 ÷ 22 = 41 - 11 =
= 81 = 17 = 30

-1728 ÷ -32 = 15 × 92 = 14 × -66 =
= 54 = 1380 = -924

-28 - 5 = -52 × -98 = 69 - -56 =
= -33 = 5096 = 125

-53 - 92 = 2 × -16 = 81 - -98 =
= -145 = -32 = 179

-3300 ÷ -55 = -117 ÷ 13 = -17 - -73 =
= 60 = -9 = 56

39 - 53 = 59 - -75 = -14 + 9 =
= -14 = 134 = -5

-94 × 81 = 1 × -33 = 26 + 75 =
= -7614 = -33 = 101
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